Py oon %

EX LR H i Ty &%
I = 250
2 | ik =% 80
3 |ELHET = 350
4 &L p = 150
5 [ERase f A ME 5302 up EN 10%
6 |G feivi f #E-E1m 531 ~60% U p EN 20%
7 [ERRse f AR 561 EN 30%
8 |edfe B4 & % 300
9 |[ZEpe DAk & % 350
10 | =2 pfe= Ch 3 % 250
11 | kfe™ E4c @ % 300
12 (A48 —5% % % 50
13 |A4#FHR—= - % % 150
14 | a—3 % % 45
15 [iekad—= ~ g% % 95
16 |84 —5% % % 40
17 [28%82—= %% % 85
18 |p & —5% % 2 40
19 |p3—° > a% 2 85
20 |HFEEAL S X 2,000
21 |58 4% % 2,800
22 |VIP} % % = 4,000
23 | (40) 293 i» 500
24 |#F=2 B2 i» 500
25 [¢ 2> A4z > 50
26 |#F=2 M4 zp i» 500
27 |- e i» 150
28 |- BB (% 2 pa2) > 50
29 |~ B2 i» 100
30 |7 ZETE (% 2 ip4R) i 50
31 |# = p 2 » 500
32 | myErd » 150
BNEAGRHEPZUE(F RREHRFFL) i» 200
34 [kzm » 50
35 |45 BB e B » 200
36 [ AER S » 200
37 |fedp @l » i 50
38 | HEYF 1P » 800
39 | v el » 800
40 |Bed (FEE ) i» 300




3 =% = L (bl g &%

41 |pErd (Ed ) i 500
2 | FrmErF L ¥ 5
43 284 (CDR) > 200
44 |pRag A & % = 200
45 |9 < mdg i»> 800
46 |0 D A & > 100
47 |ZHES e 2 0 a N A R T > 8,000
48 |#n% % > 100
49 |2 E9 B 4 > 400
50 | Bk d B4 i»> 400
51 | ¥ Eserapd > 150
52 |G W e & i» 400
53 M2 # 49 cHml (g 4 > 500
54 |AF Al g ok i» 200
55 |45l B ok (=338 0 1) > 500
56 A W B R E(H - R kA (- % 0 SRR 4of7) > 100
57 ek gzpér@%é ET > 200
S8 A MRER B D RA R IR F R E > 200
59 |B~érIVF = 14,800
60 |B~%r Frps % = 5,500
61 |ET(2%s3 g %%t » ) = 14,000
62 |3rrait i HER = 14,000
63 |4k iarnikzy (A BY) = 3,000
64 |MESA (% ics E34) = 25,000
65 |TESE (% ic%: 1 B4f) = 25,000
66 |4 ikt ik = 2,200
67 |2k nrsse % = 1,200
68 |"arsfzik = 4,500
69 |3 45 & AT 3 = 3,000
70 |45 92 ms i s (1~5%F) = 6,500
71 |45 92 ms it % (6~10%F) = 7,500
72 |pm s s rs i s (L1E02 1) = 8,500
73 |E 923 % % (1~5%7) = 6,500
74 | £ 923 % % (6~10%F) = 8,000
75 |Forss A R (1132 }) = 10,000
76 ”‘_i.;t%. S (1~5%F) = 5,000
77 |95 8 % (6~103F) = 6,000
78 |iarngs A& (113E L) = 7,000
79 |ICSLH f 8 Acit 54 3 (1~5%F) = 15,000
80 |ICSLH f 8 Acit 54 % (6~103F) = 17,500
81 |ICSIH B & ficit 543 (113572 +) = 19,000
82 |k £ M 7 (1~10%F) = 10,000




=X w3 LR IE2 g &%
83 [ ¢ % % (11~20%F) = 14,000
84 [#y7h £ H 3 QIIEILY) = 18,000
85 |&g B~ = 25,000
86 | A e B~AF ir A ==X 5,500
87 |: s} 510
88 |iwmre sz % % % 1,000
89 | X w7 'J*‘étf!ﬂ‘f%"f =X 3,000
90 |X -k d # (3 2) = 6,500
91 (XK 48 (Frery) =x 13,000
92 |mip%d tY = 6,000
93 |& %‘« 2 ¢ %8 (D&C) =X 5,500
94 |Fl% ~ B4 FHHF HD = 6,000
95 |4 7hmre ~ B PAIEAR R B = 5,000
96 |yt A =X 400
97 | % B &t A 45 = 200
98 |[H -+ Fitlitkh = 1,200
99 |TUI e iy 4 1 % # = 6,200
100 |8 B NIFTY Plus -¥ 7z 7 =X 24,000
101 | A ENIFTY -H #2 75 =X 20,000
102 | A ENIFTY -gEre 7o =X 24,000
103 | L B NIFTY Pro =X 38,000
104 |COVID-19(7\ i " @)% pa sk Bl-4 2 =X 3,500
105 |[COVID-19(3% g " ) f: etk Bl-& 2 =X 4,500
106 [128*7 v Tk §5 7% T g 7 %] %E’ (7 BRA) = 16,000
107 1287 w %k 5 9% 4T 14 A A A 15 (i B BL A1) = 6,000
108 128+ 3] £ ¥ 2% T 5 47 & 80 ( B B4 = 6,000
109 | %% 31 % Cone Beam CT =x 3,000
110 [PG3% = 48 2 > & jiv = 100,000
111 |5 8 = 88 %12 45598 (C) = 220,000
112 |2 # 5% et c;ga, P2/ (G * 8 LR = 2,000
113 |z A= X k7 BitingkC) = 160,000
114 [z Rz F = %ﬁ T Xk 7 REISR(P) =X 100,000
115 |ite 7 7 dx41 = 5,200
116 | ¥ 331 3 KM/MV-X-RAY CT =X 1,500
117 |of 53530 % = 500
118 r,%)%‘f%i']i. Ry = 32,000
119 |12 § & =X 11,000
120 |#h 12 5 & =X 6,000
121 |7 3% 5 8P B % 3,500
122 | 34 % 5 Bpes 3 = 3,500
123 | &R 3% 5 &8~ S BERFEFT = 4,200
124 |H R g 54 £ jie =% 145,000
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125 |50 & Rk i =x 6,000
126 | 28T 7 % /204 4 400
127 |§ 4 7 4 b i) phiel 4+ e 90,000
128 |§ 4 7 4 i i 24t =% 125,000
129 |& 4 7 i) i34t =% 160,000
130 |§ 4 7 4 i i phid st e 195,000
131 [#ch) B oF)E & 2] B ) =% 35,000
132 (52388 “pe Hikék = 2,000
133 (X% ¢ #9270 e 3,800
134 |SMAs“} % 555 & =% 2,000
135 |74 22k Fl4e R]-FCAR A 7 = 2,400
136 [HPV 4 %75 % 685 4 = 1,200
137 |43 93 i B 45 dc PHI = 2,500
138 |HE4 « 4 & & 3-v = 900
139 | Bop 4 4k it kRl = 750
140 |5 22 % e & %13 8] ACT Onco EN 125,000
141 |BRCA 1/27%:% # Fl# i#] ACT BRCA 1/2 = 35,000
142 | % <5~ % % 3 (DMD) = 350
143 [LSD® £ - (BB < ~ 2% 5 ~ B 2 < ~ 4 5 pE) = 800
144 |354 s2é4 (GF) = 100
145 |#74 2 &4 (219%) = 650
146 |#74 s2 & # (MPS+ALD) = 400
147 | @ e 5p = 13,000
148 ¥ @4 5 = 24,000
149 |including prosthesis 8.7 = ( Z & » 4 ) = 40,000
150 |k § ¢ w7 () >ICM = 12,000
151 [Pepgw & w27k (0] ) <ICM = 6,000
152 |55 %4 48 <3ML = 9,000
153 [P 945 48 (& # 4 IML) = 3,000
154 |4 75 = 15,000
155 |z (+ ) >5CM = 12,000
156 |12 (* ) 2CM~5CM = 6,000
157 |i## (/] ) <2CM = 3,000
158 |z@d = (&) >5CM = 18,000
159 |gga 2% (4 ) 2CM~5CM = 12,000
160 |E® 2% (¥ ) 1CM~2CM = 6,000
161 |ge 2% (] ) <ICM = 3,000
162 &% (+) >0.5CM = 6,000
163 &% (°]) <0.5CM = 3,000
164 Aitgﬁ— o R = 1,000
165 |54 55 ¢ ] (%ng) = 12,000
166 g'bg;f;'{,y (H ) = 6,000
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167 |stepp v (R = 15,000
168 |stepp w0 (H ) = 7,500
169 |ssg ¢ (@R = 30,000
170 |3 sg £ 2 (¥ @) = 18,000
171 |7 2% (gl = 3,000
172 |7 25 (% ®]) = 1,500
173 [Bt (B2%) = 16,000
174 | g st g (B 3%) = 20,000
175 |3 6 fofp £ 5 = it (i3 5%) % 3,000
176 | & St8eox/H - 3F 100
177 | p ?’f’f""]i,{ﬁ/ﬁ [had =X 100
178 |3 stBEREF 7 B = 500
179 |1 54/ 8 BI(% i 7 %) % 160,000
180 |Fa 5t/ fI(% i 7 %) % 75,000
181 |Fst/ g (B -k &) % 120,000
182 (#5548 (% -k &) % 70,000
183 ﬁ:r“/%lﬁj = 120,000
184 :iﬁ;]’b/ﬁ i =X 75,000
185 |54 5 + 3% /gE 1R = 100,000
186 |54 5 + 3% /H i =X 60,000
187 F_F‘«:P%%E = =X 50,000
188 |Tissue expander simple EN 30,000
189 [# 7 5 54~ 30 /B R = 60,000
190 |~ ’iﬁx ZZEIRE R =X 90,000
191 = g+ 3% =X 75,000
192 | > 3= 3% =x 120,000
193 (& = % V] # =X 75,000
194 PR 3R 2 A% 54 $& 7 =X 90,000
195 | § 820/ 2 5 (G 1~ 4 & 7205 AacT) 55,000
196 |#pe ¥ (5 18~ ) % 45,000
197 |4 E%/}:;ﬁ(ﬂﬁ%l& ~ b RE S LIRS BRIR N & B =X 30,000
198 |48 %4/ 2 Fp (55 # 4c - 20 1) % 15,000
199 [z % /2 Fr(+) = 40,000
200 (2= /2> Fr(-]) = 25,000
201 |tatto removal&STSG {5 *7 *& 4e {8 & = 28,000
202 | 2% B (2 %) = 25,000
203 [# # 2R £ % < (3 %) % 25,000
204 [jh i (a5 ) = 27,000
205 |including prosthesis 5 # ( Z2 &~ 4 ) = 30,000
206 | § ¥ 51 = 15,000
207 |baggy eyes Fx % (*» B %) = 24,000
208 [baggy eyes px & (&7 ] B2 = 29,000
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209 |incisional method 2 eyes gEpx & ( BER]) = 24,000

210 |incisional method 1 eyes gEpx & (H ) = 12,000
= 15,000

211 |[sutured method (buried) & gEp% £
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